Summer Math Skills for 7th Grade going into 8th Grade

Scrap paper for Full Credit)

10.

11.

12.

13.

14,

(Must Show All Work and Attach

Evaluate the expression for the given value(s) of the variables(s).

m—8whenm= 12
11 when =5
g+ E-Nwiene=-2d mdo=1

Evaluate the expression.

D107
Bl g

9.83 +(8.2)(7.01)

Find the sum, difference, product, or quotient.

Ta-548
21.13-1£.87
240125

15.3-0.09
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16.
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23.

24,

25.

26.

27.

28.

29.

a_3
04
2-a
2% » 3:":-
I_M
215
114 (=17
21-32
10(-3)
-5« (-6)

Write the number in scientific notation.

61,500
17,540,000

Write the verbal sentence as an equation. Let x represent the number.

7 less than a number is 15.
3 times the sum of a number and 2 is 12.

Simplify the expression.

dx—-&-Tx-:2
1724 3(at- 5

503+ 1)-8(3m+ 3
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39.

40.

41.

42.

43.

-3-dc+£-3

Solve the equation. Check your solution.

vw—4=-2
%x:-w
du=2=7

-9 = =0(1z-3)

Solve the inequality.

132 m=8

¥ 5

~Tx 841

Solve the proportion.

I a0

2
S

=)

5

&5
oo

X
12

(=Y

A map uses a scale of 1 in. : 25 mi. If the distance between two cities on the map is 3.5 inches, what is the
actual distance between the cities?

Write the percent as a decimal or the decimal as a percent.

31.5%

210%

0.0125

What number is 45% of 520?

75 is what percent of 30?



45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

Identify the percent of change as an increase or a decrease. Then find the percent of change.

Original: 60
New: 45

Original: 75
New: 90

A store has a pair of boots that originally cost $56 marked down 25%. How much will the boots cost on sale?

You deposit $1200 in an account. The annual interest rate is 3%. How long will it take you to earn $108 in
simple interest?

Use the diagram to find the unknown angle measures.

ek f
/o

me

mL 2

®ZL3

The shadow cast by a house is 55 feet long. At the same time, a flagpole that is 15 feet tall casts a 25 foot long
shadow. How tall is the house?

Evaluate the expression when x=3 and y = 15.

-+f12x

Aﬂy- ex+7

Solve the equation.
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57.

58.

59.

60.

61.

62.

63.

65.

66.

al-16=9¢

-ed

g =-T=EY
15+c=-3
%I: 12
4+1*=68

Find the unknown length. (Hint: Pythagorean Theorem)
Round to the nearest tenth if necessary.

1 em

14 ia, \‘&E}

Evaluate the expression for the given value of the variable.

12 = x+7,whenx=35

A rectangular garden has a length of 10.25 feet and a width of 6.2 feet. Another rectangular garden has a
length of 20.5 feet and a width of 12.4 feet. How many times greater is the area of the larger garden than the

area of the smaller garden?

Find the quotient.

Evaluate the expression -

Evaluate the expression whena= -5,b=7,c= -2,and d=3.2,

2

& -b+[d7F-2)1-¢

Solve the following proportion problem.



67.

68.

69.

70.

71.

72.

73.

74.

You can walk 2 miles in 24 minutes. How long will it take you to walk 5 miles?

Your bill at a restaurant comes to $56. You want to leave a 15% tip. How much should you leave?

Find the circumference and area of the circle. Use 3.14 for .

Solve the inequality. Then graph its solution.

x=-4>15
fx—8 =20
a xxu-l C. x=2
e Omjj—t—— - Oml—t——
-15 -10 -5 [} 5 10 15 -15 -10 -5 0 5 10 15
b xu-2 d x=z2
D3 e S s B S Y
-15 -10 -5 0 5 10 15 -15 -10 -5 0 5 10 15
¥
- — Sg
7
—t
-80 -60 -40 -20 0 20 40 60 80
X
L ey
9
—tt——t
-80 60 40 -20 0 20 40 60 80

Evaluate the expression when

-1l+ec+d
a. -4
b. -2
c. -

g=—f, d=-13andz =1.
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76.

77.

78.

79.

80.

81.

82.

83.

84.

85.

Susan owns a small business. There was a loss of $11 on Monday and a profit of $18 on Tuesday. On
Wednesday, there was a loss of $7 and on Thursday, there was a profit of $8. Find the total profit or loss.

a. $13loss
b. $8 profit
c. $44 profit
d. $18 profit

The Badgers played football against the Raiders. The Badgers had a gain of 7 yards on their first play and a
loss of 15 yards on their second play. On the third play there was a loss of 18 yards. Find the total gain or loss

for the 3 plays.

Find the difference.

26— (-9)
~3— (20

Find the change in temperature.

From —13°C to 15°C.
a. -28°C

b. -2°C

c. 28°C

d 2°C

From - :°Fto -2(°F.

Evaluate the expression when x=—4 w2 =1], @mdz =-9.

—§—x-2

Evaluate the expression for the given values of the variables.

—c=powken o= =33zaép = 30

Find the quotient.

-37% + (-3}



86.

87.

88.

89.

90.

91.

92.

93.

94.

Evaluate the expression.

-;;,,when x=-T2and y= -2

A deep-sea diver must descend and ascend in short steps to equalize pressure on her body. If the diver rises
toward the surface too quickly, she may suffer from a physical condition called "the bends." Suppose the
diver descends to the bottom in three steps of 12 feet each. Write and simplify an expression to describe the
diver's change in elevation.

Kaye runs a small business with three employees. She pays one employee $2300 a month, another $1700 a
month, and the third $1400 a month, How much does she pay her employees in a year?

a. $31,900 ' c. $30,700

b. $63,600 d. $64,800

Use the distributive property to write an equivalent variable expression.

dx+ 3
a. 4x+12 C. 4x+1]
b. 4x-12 d x+1

You and three friends go to a movie. The tickets cost $5.50 each. You each buy a drink for $2.50 and a box of
popcorn for $4.00. Write an expression that represents the total amount of money spent. Then evaluate the
expression.

-4(r+3)
Simplify the expression.
T-F54x1-92

4+ [0x+5-8x

Write and simplify an expression for the perimeter of the figure. (The figure may not be drawn to scale.)

3x

2x+8

Solve the equation. Check your solution.



95 :—45::2‘3
96. 16d=x-159

Solve the equation.

97. 1dx=-T:8
a. i

b.

Ao
(

1]
-

98.

(L] L
Il
o

99. Tx=182
€
L= =2
100 2 3
101. 4x=24
102.

103. The perimeter of the figure is 28.01 centimeters. Find the value of x.

959 ¢m 9,83 om

Solve the equation. Check your solution.

104, —x4+06=24

105. -= + 3 =18



106. — —4= '3

107. -{}-z:w
Solve the equation.
108. i(3x=-Zi=x+1T
109. E(x+51+1=2x=514+4
110. x4 £=5(3x-1)
L 11-2zx=5%-12

Write the verbal sentence as an equation. Then solve the equation.
112. Fifteen plus twice a number is equal to 3 times the number.

a. 15¢2y=-3x;15 c. 15=3x+3x;3
b. 15+3x=2x. -1 d. none of these

113. Eighteen minus 8 times a number is equal to - § times the number.

114. Find the value of x so that the rectangle and the triangle have the same perimeter. What is the perimeter?

r+2

F+i

x+9

115. Find the value of x so that the figure is a square.
u =

¥52-3)

I+ X

Solve the inequality. Then graph the solution. }

116. -4x+10>2

N
L 4

=30 -20 -10 0 10 20 30



136.

[ SV 3 B
3
!
[ X
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da

LV -7 Y

137. 2
STk

138. z-;-r - 2241

Use the percent equation to answer the question.

139. 12 is 20% of what number?
140. What percent of 25 is 7?
141. What number is 21% of 300?

142. Luis makes a 4% commission on his sales in a sporting goods store. For a $70 purchase, how much
commission does Luis earn?

Find the new amount.

143. Increase 30 by 80%.

a. 6 b. 54 c. 24 d. 110

144. Decrease 40 by 20%.

a. 20 b. 32 c. 8 d 48

Solve the equation. Check your answer.

145. 1lx-2="7

a. 73 b. 7 ’ c. 4 d 16
146. 4w +7=135
a. 10.5 b. 112 c. 7 d. 168

Solve the equation. Check your answer.

147. §+14-_-4ﬁ
a. 16,015 b. 240 c. 8 d 128



148. §—4= y
{

149. Which inequality is represented by the graph?

---------------------

a w2 -12 b m > -12 C mz -12 d m¢-12
Solve the inequality. Then graph its solution.

150. x-28 £ -9

R i i i o 4
=20 -10 0 10 20

151, x-4<09

v

152. w+8 <1
<
0 10 20 30 40 50

153. w-:—-% <3

W

)

Write the inequality for the following sentence.

154. A number decreased by 7 is more than 3.

Write a verbal phrase to describe the inequality. Then graph the inequality on a number line.

155. mz26

012345678910



~ Mame : ~ Score :

Téacher : Date :
1) (#7)x (+2) = 2) (+4) + (+9) =
3) (#4) + (+3) = 4) (¥9)-(+9) =
5) (+4)x (+8) = 6) (+2)-(+2) =
7) (+8)x (+3) = 8) (+2)+(+7) =
9) (+4)+ (+7) = 10) (+7)x(+4) =
11) (+8) +(+9) = 12) (+12) = (+6) =
13) (+8) +(+2) = 14) (#7) + (+3) =
15) (+54) = (+6) = 16) (+9) x (+7) =
17) (+8)-(+2) = 18) (+4)x (+9) =
19) (+27) = (+3) = 20) (+8)-(+7) =
21) (+40) = (+5) = 22) (+48)+(+6) =
23) (+3)-(#6) = 24) (+24) + (+4) =
25) (+3)+(+3) = 26) (+7)-(+4) =
27) (+16) = (+4) = 28) (+5)x (+9) =
29) (+4)x (+5) = 30) (+3)-(+7) =

Ei‘grEl
Mafh -Aids Com 2’4"-“



e | Id=ntifying Rational and Irrational Numbers Name
etermine if the number is rational (R) or irrationgl 0. il‘ Answers
1) /67 |

L1
2) 59z !s

2,
3) a/100

3.
4) /29

4.
S) 86.492218

S.
6) ©

6.
7) afa9 -

7.
8) 8§

8.
9) 61.871032...

9.

10) 2430915

10.
11) 6
)7
L.
12) 8§0.474030
12,
13) 93.02164
13.

14) 8

) s
14,
15) 53
) Y
15.
16) 57.9620135
16.
17) 77
17.
18) 5.87322
18.
19) 27
)
15.
20) 39.581787...
20.
j ~ .10 1$5199]385180175|70] 65]60 55150
o wsw CommonCoraShests.com 1-26145140435(30)251 20 151191510




Name : Score :
" Teacher : Date :
Find the Slope from the Pair of Points
1) (2,-5) (4,5) slope = 2) (0,3) (-3,0) slope =
3) (5-1) (5,0) slope=__ 4) (-3,5) (4,-5) slope =
5) (1,1) (43) slope = 6) (-5,0) (-2,4) slope =
7) (2,-5) (0,5) slope = 8) (-5,2) (5,1) slope =
9) (-5.-5) (5,0) slope = 10) (-1,-5) (2.5) slope =

E‘%ﬁ



Name : . Score :
Teacher : _ Date:

Four Quadrant Ordered Pairs

W Y
= 9
L s
3 =
' K
G
° M
4 —
E |Y
31— =
X
= 2
< G l

-a-'%-r;-:-nf-z-l 1234EDE7EE>X

=1 *
A

=5 -
i I
3 37 B

o\ %N
-

z
a =§
=9
Y
Tell what point is located at each ordered pair.
1) (+7,48) ____ 3)(+8+4) _____ 5)(+1.-3) 7)(8,40) ____
2)(-9%9) ___ 4) (+0,+8) ____ 6) (+5,+6) ___ 8)(4-6) ___

Write the ordered pair for each given point.
8) A 1) B 13) D 15) Y

10) X 12) E 14) N 16) V

P, ———

Plot the following points on the coordinate grid.
17) O (-8,+7) 19) R (-2,40) 21) J (-3,+6) 23) T (-6,+6)

18) C (+5,7) 20) Q (+1,-2) 22) F (+5,+2) 24) P (-6,42)
s ' E“‘ Math-Alds.Com_ B -{%1




rd
:

CommonCoreSheets.com |

R T L

40

Rewriting Using the Laws of Exponents Name:
< it
,. - Use the law of exponents to rewrite each problem. Answers
1) . 1,.5_ 2) 5l=
) ( /6) = ) 5
1.
2.
3) @4x2)’= 4) (5x3) =
3.
4,
5 @%3= 6) 20=
5.
6.
7 1,8 8) 30=
(%) )3
7.
8.
9) 37_ 10) (5%)2=
9.
10.
11) ¢l= 12) 38_
1.
12.
13) 48x4%= 14) 3836
13.
) - 14.
15) 5-6_ 16) 4l=
15.
17) 4 x45= 18) 1y m'
( s) -
17.
18.
19) 52x58= 20) 20~
19.
) 20. ,
K , j k. e t-10 {95 908580} 75| 70 656055 f50] - -
Math 8 vww. 1 11-20[ 45 35]30]25]20}15]10] 5 [0




1) 3 X3 = =
1.
2.
2) 3-4x32___ —
3.
q.
3 1
) (4= -
5.
6.
4 4 _ .
7.
8.
5) %= =
9.
10.
6) 33)(3.2: e
7 3l= =
8) b= =
9) (2x3)’= =
10) 23X22= =

1-10 [90]80]70]60 ] 50 40[30]20]10] 0 |

& www.CommonCoreSheets.com 1



I dx—6=x+ 9 11. 5x-7=-10x + 8

W Wy -;.w-aq;«\'qvcxun,ym;.,‘,.. Wi

; 2. 4-7x=1-6x - 12. 7y +3=4y-18

3. -AX-3=-6x+9 13. -3(y +3) =2y +3
4. 41-2n=2+n 14. 2(-3a+5)=-4(a +4)

| 5 6(2+y)=3@3-y) 15. 7x=3 =2 (x + 6)

6. 4y;2(y—5)—2 16, 6X+9 =4 (5-x)
7. 6X=9x—4=2x—2 17. 8(x+2)=-5-2(x~3)
8. -(X+7)=-6x+8 18. 2(x=3)=(x=1)+7
9. 3-6a=9-5q 19. -SL(éy—c?):-Qst
10. Ox+6=-x+4 20, F (12-6x)=5(x+4)
© MCMXCIV Instructional Fair, Inc.
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Find the area of each circle. Use your answers to break the code and read the message.

(Hint: Use 3.14 for &t.)

6.2m

-

6m

© Frank Schaffer Pubiications, Inc.

Y. U.

314 m? 30.18m2 159m? 153.86 m?

314m2 1,256m? 78.5m2 19.63 m?

3.8m2 7" 30.18m? 1,256 m?

45m

L.

30.18 m?

28.26 m?

15.9 m2

30.18 m?
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